Craighead County, Arkansas Salaries

These amounts were taken from the 2022 Budget, Appropriations Ordinances 2022-1, 2022-6, and 2022-15. These documents can be found on the Craighead County website.

Office of the County Judge	
County Judge 50% (Road Dept 50%)	\$49,204.80
County Administrator	\$65,966.35
Purchasing Agent	\$58,182.15
Secretary 50% (OEM Dept 50%)	\$22,760.49
Human Resource Manager	\$60,528.92
Office of the County Clerk	
County Clerk	\$80,301.90
Chief Deputy	\$52,955.39
Accounts Payable Clerk	\$42,604.92
Payroll Clerk	\$39,795.08
Head Probate Clerk	\$40,497.54
Probate Clerk	\$39,795.08
Election Clerk	\$39,795.08
Deputy Clerk (PT) (2)	\$25,578.73
Office of the County Treasurer	
Treasurer	\$80,301.90
Deputy Treasurer	\$42,604.92
Office of the County Collector	
Collector	\$80,301.90
2nd Deputy	
3rd Deputy	
4th Deputy	\$40,497.54
5th Deputy	\$40,497.54
6th Deputy	
7th Deputy	\$40,497.54
8th Deputy	\$40,497.54
Deputy Clerk (PT)	\$1,050.80
Office of the County Assessor	
Assessor	\$80,301.90
Chief Deputy	\$53,248.13
Business Personal Property Admin	\$42,914.58
Business Personal Property Admin	\$42,914.58
Personal Property Admin 1	\$45,447.85
Personal Property Admin 2	\$40,869.61
Personal Property Admin 3	\$40,662.55
Personal Property Admin 4	\$39,795.08
Personal Property Admin Lake City	\$39,795.08
Property Assessment Review	\$44,364.10

Real Property Admin 1	\$49,532.95
Real Property Admin 2	\$40,722.51
Rural Property Admin	\$52,914.62
Sub/Urban Property Admin	\$49,532.95
Quorum Court	, -,
Justice of the Peace - 13 @ \$10208.80 each	\$132,714.40
Maintenance Department	7132,714.40
·	¢52.055.20
Maintenance Supervisor	\$52,955.39
Building Maintenance	\$41,902.46
Deputy Clerk (PT)	\$14,400.00
Grounds Maintenance	\$39,795.08
Maintenance Tech	\$39,795.08
Custodian Team Lead	\$39,092.62
Custodian - 5 @ \$38,390.16 each	\$191,950.80
Custodian Part Time	\$13,000.00
Elections	
Election Coordinator	\$46,350.00
Computer Services	¥ 10,000100
IT Director	\$62,713.61
	\$49,721.19
IT Systems Administrator	343,721.13
County Sheriff	400 400 60
Sheriff	\$98,409.60
Chief Deputy	\$69,219.09
Assistant Chief/Captain Deputy	\$62,713.61
Captain CID	\$59,460.87
DTF Commander	\$59,460.87
Eastern District Deputy	\$56,381.85
Lieutenant (3 @ \$52,955.39)	\$158,866.17
Sergeant (4 @ \$49,721.19)	\$198,884.76
CID Deputy (2 @ \$45,305.19)	\$90,610.38
Deputy Patrol (20 @ \$45,305.19)	\$906,103.80
School Resource Officer (3 @ \$45,305.19)	\$135,915.57
Transport Officer (2 @ \$41,180.87)	\$82,361.74
Environmental Officer	\$45,305.19
	• •
CID Secretary	\$45,338.49
Deputy Clerk 1	\$40,856.99
Deputy Clerk (3 @ \$40,497.54)	\$121,492.62
Clerk - Fine and Fee Collections	\$40,497.54
IT Computer Administrator	\$49,721.19
Deputy Clerk Part Time	\$23,950.89
PT Time - Overtime - Litter Pickup	\$17,863.67
Deputy 1st Class (19 @ \$1,500.00)	\$28,500.00
District Court	
Chief Adminstrator	\$56,208.13
Chief Deputy Clerk	\$46,468.45
Court Liason	\$41,902.46
Deputy Clerk (12 @ \$40,497.54)	\$485,970.48
50pat, 01011 (12 & 710,757.57)	Ÿ¬∪Э,Э / ∪. ¬ О

Custodian Part Time	\$14,312.56
Juvenile Court	714,312.30
Juvenile Supervisor	\$52,955.39
Intake Officer 1	\$47,804.03
Intake Officer 2	\$43,981.06
Intake Officer 3	\$41,902.46
Intake Officer 4	\$41,902.46
Office Manager	\$41,200.00
Probation Officer (2 @ \$41,902.46)	\$83,804.92
County Jail	
Facility/Jail Administrator	\$62,713.61
Assistant Jail Administrator	\$59,460.87
Assistant Administrator - Juvenile	\$49,721.19
Maintenance Administrator	\$52,955.39
Staff Accountant	\$44,009.84
Maintenance/Security	\$44,009.84
Booking OIC	\$45,414.76
Assistant OIC	\$42,604.92
Jailer OIC (Day) (2 @ \$45,414.76)	\$90,859.52
Jailer OIC (Night) (2 @ \$45,414.76)	\$90,859.52
Jailer Asst OIC (Day) (2 @ \$42,604.92)	\$85,209.84
Jailer Asst OIC (Night) (2 @ \$42,604.92)	\$85,209.84
Detention Officers (53 @ \$40,497.54) Detention Officer/Office Manager	\$2,146,369.62 \$43,307.38
Adult/Juvenile Part Time	\$22,166.12
Night Shift Differential 30 @ \$500 each	\$15,000.00
School /Service Promotion (30 @ \$1507.36)	\$45,220.80
Coroner	ψ 13)223.33
Coroner	\$80,301.90
Circuit Court	. ,
Circuit Clerk	\$72,593.86
Chief Deputy	
Assistant Chief Deputy	\$45,414.76
Deputy Civil Clerk (2 @ \$40,497.54)	\$80,995.08
Deputy Criminal Clerk (3 @ \$40,497.54)	\$121,492.62
Deputy Domestic Clerk (2 @ \$40,497.54)	\$80,995.08
Deputy Junenile Clerk	\$40,497.54
Deputy Land Records Clerk	\$40,497.54
Eastern District Circuit Clerk	\$56,359.58
Deputy Clerk Part Time (3)	\$18,500.00
Drug Task Force	4
Fiscal Officer	\$43,307.38
Legal Secretary 1	\$51,353.72
Legal Secretary 2	\$41,200.00
Deputy Prosecuting Attorney	¢42 FF0 C4
PA Case Coordinator Secretary Coordinator 1	\$43,558.64
SecretaryCoordinator 1	\$43,558.64

SecretaryCoordinator 2	\$41,200.00	
Receptionist	\$39,092.62	
Investigator	\$45,313.81	
Victim Witness Assistance		
Coordinator Financial	\$42,604.92	
Coordinator 1	\$47,074.47	
Coordinator 2	\$41,902.46	
Coordinator 3	\$41,902.46	
Office of Emergency Management		
Director OEM	\$54,101.45	
Assist Director OEM 50% (Dept 100 50%)	\$22,760.49	
Veterans Services		
Veterans Service Officer	\$45,414.76	
Clerk Part Time (2 @ \$14,099.32)	\$28,198.64	
Road Department		
County Judge 50% (Judge's Office 50%)	\$49,204.80	
Road Superintendent	\$62,713.61	
Western District Foreman	\$49,721.19	
Eastern District Foreman	\$46,468.45	
Shop Manager	\$46,468.45	
GIS/911 Addressing Coordinator	\$43,804.37	
Coordinator	\$41,902.46	
Clerk	\$39,795.08	
Mechanics (4 @ \$44,622.07)	\$178,488.28	
Lead Equipment Operators (3 @ \$44,089.94)	\$132,269.82	
Equipment Operators/Drivers/Laborers (44 @ \$42,506.57)	\$1,870,289.08	
Gen Laborers Part Time 4 @ \$13.00 per hour	\$20,000.00	
Treasurer's Office		
Chief Deputy	\$52,955.39	
Deputy Treasurer Part Time	\$2,500.00	
County Collector		
Chief Deputy	\$52,955.39	
1st Deputy	\$42,170.39	
2nd Deputy	\$40,497.54	
3rd Deputy	\$40,497.54	
6th Deputy	\$40,497.54	
Deputy Clerk Part Time	\$14,400.00	
Public Defender		
Secretary/Legal Support	\$41,902.46	
Adult Drug-Pub Safety-Juvenile Ct Services-Voting Sys-Commis	ssion Fee	
Officer Part Time	\$2,255.00	
Juv Det-Adult Drug-Juv GR-FEMA Shelt-DWI Ct-Lifesaver-Law Enf-Jboro Lib		
Star Court Coordinator	\$41,200.00	
FY21 Connect & Protect LE Behavioral Health Grant		
CIT Law Enforcement Coordinator	\$46,805.19	